MK

IRHR A & A& B | ZVHE|EEHE i
HEFR454 [HPPE(EFZOHKAZEE) L=5.00m ®50 y:N 9 45.0m#1 5% (5%0m)
BokKEHMZX T |HPPE(EE) L=5.00m ® 50 x 3 13.1m# R
AHEHEGRVER) ¢ 50 X 45° 1@ 2
AHEEE REER) ¢ 40 x 45° & 2
BEEAANETEE ®50(P) x p40(V)| & 2
PVoaA Uk ®50 & 1
" ®50(P)x p40(V) | {& 1
HiVP  L=4.00m b 40 y:N 4 13.0m# R
" b 25 ¥ 1 1.7m#E%
Hiv 4k 40 & 2
" d 40X ¢ 25 1@ 1
HiT /LA ® 25 & 2
BRI —bk W=150S m 728 450+13.1+12.0+1.7+1.0
HUARHRET |FRELTFH ®50 & 1
Bhlfvryk 1oa7:RUER) ¢ 50 1 2 XRFLLUL
o= H=600 4 1
KB T HRILE R KEE GRYER) »50x% ¢20 1 3
ISRIIAUk ¢ 20 & 3
HiVP  L=4.00m 20 y:N 1 3.0m#TE%(1.0m x 344)
Hiv 4k 20 & 3
HiT /LA ¢ 20 & 6
ERERSKXY bk 20V)x ¢ 133AE) | & 1 XRFLLUL
BRI —b W=150S m 15 0.5 X 314




ME xR No.2

IRHR A & A& B | ZVHE|EEHE &5 &
HEFRSS# [HPPE(EFZOHKAZEE) L=5.00m ®50 y:N 7 35.0m#1 5% (5%0m)
BokKEHMZX T |HPPE(EE) L=5.00m ® 50 x 2 6.9m7A %
AHEHEGRVER) ¢ 50 X 45° 1@ 2
AHEEE REER) ¢ 40 x 45° & 2
BEEAANETEE ®50(P) x p40(V)| & 1
PVoaA Uk ®50 & 1
" ®50(P)x p40(V) | {& 1
MC1=#> ® 50 1 1
BR—b W=150S m 42.9 35.0+6.9+1.0
HUARHRET |FRELTFH ®50 & 1
Bhlfvryk 1oa7:RUER) ¢ 50 1 2 XRFLLUL
o= H=600 4 1
KB HRILE R KEE GRUER) »50x% ¢20 1 1
ISRIIAUk ¢ 20 & 1
HiVP  L=4.00m 20 y:N 1 1.0m#E&(1.0m x 144)
Hiv 4k 20 & 1
HiT /LA ¢ 20 & 2
BRI —b W=150S m 05 05 % 114




MK

No.3
IRHR A & A& B | ZVHE|EEHE &5 &
HETHE1254# |HiVP  L=4.00m b 40 y:N 16 63.6m#1 5% (5%0.4m)
BLKEMET |HiVTvk 40 1 14
HINUKR $40x22° 1/2 | @& 1
BRI —bk W=150S m 63.6
HUARHRET |FRELTFH 40 & 2
HFhlCHVryr(BEER) 40 & 4 XRFHUL
o= H=600 #H 2
fakgIgT RIS KE GREER) ®40x ¢20 & 6
ISRIIAUk ®20 & 6
HiVP  L=4.00m ¢ 20 PN 3 11.0m#E%(1.0m X 14§, 2.0m x 544)
HivV4 vk 20 & 6
" $20x 13 1@ 1
HiT/L7R ¢ 20 & 12
BRI —bk W=150S m 8.0 0.5x 14, 1.5m x 5




FHE

No.1
RARB E2E g Hf| Z9%E | £EHE 5 &

RETH4EH |RUTFLUEREKT ®50 m 58.1
BKEMRT |[E-—ILERKT 40 m 13.0
" ®25 m 1.7
RUTFLUERFT (REES) 650 1O0#F | O 9
RYUIFLUELIET $50 A 9
ANZAILBFIGRIER) ®50 | 10
AN=AIBFIGEEERH) ®50 a 1
" 40 A 6
TS#FT 40 A 5
" ® 25 A 5
EHRI—k m 728

BKEERT HKERE B 0.04 72.8m/2,000H=0.048
HUHHET |(HEUIHFFRET ®50 £ 1
MENOFEERLAAES ®50 a 2
RUIFLUERFT ®50 | 2
RERET H=600 #e 1
BEXE " 1
fwkgIET YRR KRFRETI RUER) $ 50 x ¢ 20 1@ 3
MENOFEERLAAES ®20 a 3
E-—ILERmEZT ®20 m 30
TSHFFET ®20 A 18
RUIFLUERFT ®20 | 1
" »13 A 1
BRSO —k W=150S m 15




FHE

No.2
RARB E2E g Hf| Z9%E | £EHE 5 &

RETHSEHR |[RUIFLUEREKT @50 m 419
BKEMRT |[E-—ILERKT 40 m 1.0
RUTFLUERFT (REES) 650 10#F | O 7
RUTFLUEYERT ®50 a 4
ANZAILBFIGRIER) ®50 a 8
ANZAIBFIT(EEER) ® 50 m| 1
" 40 A 5
EHRI—k m 42.9

WKEER T HRKERE B 0.02 42.9m/2,0008=0.02H
EUHHRET |(HEUIHFFRET ®50 £ 1
MENOFEERLAAES ®50 a 2
RUIFLUEHRFT $50 A 2
REHRET H=600 #e 1
BEXE " 1
wkgIET YRR KRFREI GRUER) ¢ 50 % ¢ 20 & 1
MENOFEERLAAES ®20 a 1
E-—ILERmEZT ®20 m 1.0
TS#FT ®20 A 6
BRS—k W=150S m 0.5




FHE

No.3
RARB E2E g Hf| Z9%E | £EHE 5 &

RETFHE125# |EZ—IILERKRT 40 m 63.6
BKEMRT [ANh—HhIBFIEEER) 40 a 2
TSHFFET @40 A 30
EHRI—k m 63.6

WKEER T HRKERE B 0.03 63.6m/2,000H=0.038
TUHFET |[HUFERET ® 40 # 2
MENOFEERLAAES 40 | 4
RY)IFLUEHMFET @40 O 4
REHRET H=600 #e 2
BEXE " 2
HwAKOET YRILAKEFRETIBEER) ®40x ¢20 & 6
MENOFEERLAAES ®20 a 6
E-—ILEMRT @20 m 11.0
TSHFFET ® 20 A 37
" »13 A 1
BRSO —k W=150S m 8.0




T I #%H = X No.1
£ 7 b3 H B 4 = RETHME
HETE4E4R
BoKEMERTL Wt 4 T H=600 &:ﬁﬁ@ 060 m X 0723 m 591 m = 2564 m3
H=600 BrE@ 060 m X 0.708 m 137 m = 582 m3
&t 3146 m3 30
e E T Eﬁg%\yﬁ &:ﬁﬁ@ 060 m X 0263 m 501 m = 9.33 m3
REEFYT BrEQ 060 m 0248 m 137 m = 2.04 m3
&Et 11.36 m3 10
BB EL T HET &:ﬁﬁ@ 060 m X 0290 m 591 m = 1028 m3
E it igvaled) 060 m X 0290 m 137 m = 2.38 m3
&t 1267 m3 10
RrET = 17.38 m3 20
TRERET t=10cm RC-30 060 m X 728 m = 4368 m?2 44
LERAET t=8cm M-30 060 m X 728 m = 4368 m2 44
RAsEHZET t=3cm FRAI 060 m X 728 m = 4368 m?2 44
AREIBAsTHET (ANEIL] t=4cm BRI 080 m X 728 m = 58.24 m2 58
AsEHEERR U1 T t=4cm 728 m X 4 % = 29120 m 291
AsEHZERRBERE T t=4cm 080 m X 728 m = 58.24 m2 58
R AsEHZE hiR Bl T t=3cm 060 m X 728 m = 4368 m?2 44
AsTREEFHEE - 5 T = 364 m3 4




T I #H & X No.2

£ o % H B 4 = BEtHE
HETE4EHR BEMERIE T H=600 060 m X 0.686 m 15 m = 062 m3 0.6
HwKEMRLI |HHERLI REFvS 060 m X 0226 m 15 m = 020 m3 0.2
HWMERLT H=600 060 m X 0290 m 15 m = 026 m3 0.3

KT = 0.33 m3 0.3

TERET t=10cm RC-30 060 m X 15 m = 090 m?2 0.9

LERAET t=8cm M-30 060 m X 15 m = 090 m?2 0.9

RAsEHZET t=3cm FEAL 060 m X 15 m = 090 m?2 0.9

AEIBAsTHET (ANETI]  t=4cm L 080 m X 15 m = 120 m2 1

AsERZEhR U1 T t=4cm 150 m X 4 % = 6.00 m 6
AsEHEERRBER: T t=4cm 080 m X 15 m = 120 m2 1

{RAsERZE IR ER I T t=3cm 060 m X 15 m = 090 m?2 0.9

AsTREE OB - 05 T = 0.08 m3 0.1




T I #% = X No.3

£ o % H B 4 = HEitH=E
HEFESS#R

BKEMELT |HEHKEL H=600 BrE @ 060 m X 0723 m 429 m = 1861 m3 20

HHMIERLT RARFYTS Q) 060 m X 0263 m 429 m = 6.77 m3 7

HWIERLT HEL valQ) 060 m X 0290 m 429 m = 746 m3 7

BT = 1032 m3 10

TRERET t=10cm RC-30 060 m X 429 m = 2574 m?2 26

LERAET t=8cm M-30 060 m X 429 m = 2574 m2 26

RAsEHEZET t=3cm FRAI 060 m X 429 m = 2574 m2 26

AREIBAsTHET (ANETL] t=4cm BRI 080 m X 429 m = 3432 m2 34

AsEiZE hiR U] 7 T t=4cm 429 m X 4 % = 17160 m 172

AsEHZE R bR T t=4cm 080 m X 429 m = 3432 m2 34

R AsEHZE hiR Bl T t=3cm 060 m X 429 m = 2574 m?2 26

AsTREEFHER - 5 T = 215 m3 2

HBAKEMELT |[HEHEEKEL H=600 060 m X 0686 m 05 m = 021 m3 0.2

BEWIERLT HEFvS 060 m X 0226 m 05 m = 0.07 m3 0.1

BMIERLT H=600 060 m X 0290 m 05 m = 009 m3 0.1

BT = 0.11 m3 0.1

TRERET t=10cm RC-30 060 m X 05 m = 0.30 m?2 0.3

LERAET t=8cm M-30 060 m X 05 m = 030 m2 0.3

RAsEHZET t=3cm FR AL 060 m X 05 m = 030 m2 0.3

AREIBAsTHET (ANEIL] t=4cm BRI 080 m X 05 m = 040 m?2 0.4

AsEiZE hiR U] 7 T t=4cm 050 m X 4 % = 200 m 2

AsEHZERRBERE T t=4cm 080 m X 05 m = 040 m?2 0.4

R AsEZE hiR B T t=3cm 060 m X 05 m = 0.30 m?2 0.3

AsTREEFHER - 5 T = 0.03 m3 0.1




T I #% = X No.4

£ o % H B 4 = HEitH=E
HEFH1254%

BKEMELT |HEHKEL H=600 B 060 m X 0708 m 636 m = 2702 m3 30

HWMERLT RARFYTS HrE @ 060 m X 0248 m 636 m = 946 m3 9

HWIERLT HEL Lvaled) 060 m X 0290 m 636 m = 11.07 m3 10

BT = 1472 m3 10

TRERET t=10cm RC-30 060 m X 636 m = 38.16 m?2 38

LERAET t=8cm M-30 060 m X 636 m = 38.16 m2 38

RAsEHZE T t=3cm FR AT 060 m X 636 m = 38.16 m?2 38

AREIBAsTHET (ANETL] t=4cm BRI 080 m X 636 m = 50.88 m2 51

AsEiZE hiR U] 7 T t=4cm 636 m X 4 % = 25440 m 254

AsEHZE R bR T t=4cm 080 m X 636 m = 50.88 m2 51

R AsEHZE hiR Bl T t=3cm 060 m X 636 m = 38.16 m2 38

AsTREEFHER - 5 T = 318 m3 3

HBAKEMELT |[HEHEEKEL H=600 060 m X 0686 m 80 m = 329 m3 3

BEWIERLT HEFvS 060 m X 0226 m 80 m = 1.08 m3 1

BMIERLT H=600 060 m X 0290 m 80 m = 139 m3 1

BT = 1.75 m3 2

TRERET t=10cm RC-30 060 m X 80 m = 480 m2 5

LERAET t=8cm M-30 060 m X 80 m = 480 m2 5

RAsEHZET t=3cm FR AL 060 m X 80 m = 480 m2 5

AREIBAsTHET (ANEIL] t=4cm BRI 080 m X 80 m = 6.40 m2 6

AsEiZE hiR U] 7 T t=4cm 800 m X 4 % = 3200 m 32

AsEHZERRBERE T t=4cm 080 m X 80 m = 6.40 m?2 6

R AsEZE hiR B T t=3cm 060 m X 80 m = 480 m2 5

AsTREEFHER - 5 T = 040 m3 0.4




¢ 50

i B R BARA R TRTAER
HPPE fid 7K
UEE (m) OIS
. 4 BT »
&H OBEm ER|OERE " BE (m) 2 i
o b 3t
=]
-1 Z-1 -2 -3 Z-4 O-©® ([)
1
B
HPPE
. b % .
5]
z-1 ) Z-3 Z—4 Z-5 BR= 50
1 HPPE 50 5. 000 4. 400 0. 600 5. 000 1
2 HPPE 50 5. 000 4. 000 0. 500 0. 500 5. 000 2 | E NS B E T HEhE |  5.000
3 HPPE 50 5. 000 2. 500 1. 100 3. 600 1. 400 2
i 15. 000 10. 900 2.200 0. 500 13. 600 1. 400 5
15. 000 10. 900 2.200 0. 500 13. 600 1. 400 5




650 HPPE B /K & B R B R TRTE AR
UEE (m) DI+ NT)
& WM WR|OERE B ) B (m) SIT T W=
Fi-1 Z-1 ) ) Z—4 } OO ()
1
EHE
HPPE
. b -
-1 2.2 2.3 24 25 ] BE= 50
1 HPPE 50 5. 000 2. 300 2. 000 0. 600 4.900 0. 100 3
2 HPPE 50 5. 000 1. 500 1. 500 3. 500 1 HhE | 5.000
B 10. 000 3. 800 2. 000 0. 600 6. 400 3. 600 4
10. 000 3.800 2. 000 0. 600 6. 400 3. 600 4




$40 HiVP B K & bl B K BAHRA T TPRTAR AR
UEE (m) OIS
. 4 BT »
B omm R |0 ERE " BE (m) 2 i
o b 3t
=]
-1 Z-1 -2 -3 Z-4 O-©® ([)
1
B
HiVvP
. b % .
5]
z-1 ) Z-3 Z—4 Z-5 BR= 40
HivP 40 4.000 4.000 4.000
HiVP 40 4. 000 0. 500 0. 500 0. 500 0. 500 2.000 2. 000 R ERTS B E T HEhE|  4.000
HivP 40 4.000 4.000 4.000
HivP 40 4.000 4.000 4.000
i 16. 000 12. 500 0. 500 0. 500 0. 500 14. 000 2.000
16. 000 12. 500 0. 500 0. 500 0. 500 14. 000 2. 000




$40 HivP Kl K & bl & % BRHA © R TIT12 B
UEE (m) DI+ NT)
& WM WR|OERE B ) B (m) SIT T W=
Fi-1 Z-1 ) ) Z—4 } OO ()
1
EHE
HiVP
. b -
-1 2.2 2.3 24 25 ] BE= 40
1 HiVP 40 4.000 1. 400 1. 500 0. 700 3. 600 0. 400
HahE| 4.000
B 4.000 1. 400 1. 500 0. 700 3. 600 0. 400
4.000 1. 400 1. 500 0. 700 3. 600 0. 400




MK

IRHR A & A& B | ZVHE|EEHE &5 &
ZEEBFURF) |HPPE(EFZOMHAZEE) L=500m ® 50 X 19 95.0m#1 5% (5%0m)
BokKEHMZX T |HPPE(EE) L=5.00m ® 50 x 3 17.4m% R
AHEHEGRVER) ¢ 50 % 90° & 4
" ¢ 50 % 45° & 2
BEEAANETEE $50(V) x p50(P) | & 1
vsTaquk @50 1@ 1
EFRUK (M52) ¢ 50 % 45° & 1
BRI LLESE (OVY) ®50 1 1
KXV T 20 & 1
BRI —bk W=150S m 112.0
HUFHREL | FHKTFEE RUEH) BIFT $ 150 x ¢ 50 1@ 1
SKX# LKV vk A2a7 it (KYER) ¢ 50 & 1 XRFLLUL
AR LTHF ®50 & 2
Bhlfuryk 1oa7:RUER) ¢ 50 1 4 XRFLUL
o= H=800 #H 1
" H=600 # 1
ERAREL |MEEKF (TVIH) 20 1& 1
EIFHRVIR $350 H=600 | {& 1
YR KEGRYER) ®50% ¢ 20 & 1
GPF bk 20 & 1
GPY4 vk 20 & 1
aEviryk $25% $20 & 1
HRKUIBET HRILE R KEE GRYER) ®50x% ¢20 1 1
ISRTaAUPPER) 20 & 1
RUIFLUNRAT(158) 2BE 20 m 40
SKXTJLR(PPER) ¢ 20 & 2
BRI —b W=150S m 35 35x 144




FHE

BRHR4 22X g B H9%E | & = B &

EEBBRUIRT) |RUIFLUERET ® 50 m 1124
BKEMRT |E-—ILEHMEZT ®50 m 1.0
RUIFLUERF I (BEES) $50 1O0#F | 0O 19
" ¢50 20#F | &FR 1
RUIFLUEYT ®50 O 5
AN=HILBFIGRIER) ® 50 O 13
AN=HILBFIGEEER) ®50 O 4
RUIFLUEHFT @50 a 1
HERCAAT ® 50 i 1
" ®20 a 1
EHRRY—F m 1120

BKERERT HKEFRE B 0.06 113.4m/2,0008=0.06 B
TORFHET |[FEKTFERET GETFM) $150x ¢50 | BEFRT 1
TOHEBET ®50 2 2
HE/PMOFEERLAAES ®50 O 4
RUIFLUEHFT ®50 A 4
FEFRET H=800 1
" H=600 1
HERE 2
EJIRFEL [ERAREL ®20 1
YRILDKRFELGRUER) $50% ¢ 20 1
HERLAAT ®25 1
" ¢ 20 2
FEFRET H=600 1
BERE 1
WAKOBIT |YRLLDKRBREIGRUER) $50x% ¢20 1
HENORERLAAES ®20 1
RUIFLUERHZRT ®20 40
RUIFLUEHRFT @20 5
BRI —bk W=150S 35




T I #% 2 %
% L O #H B 4 = A=
FEEBRURFR
Bk EMERT H=600 ErE® 060 m 0713 m 6 m = 257 m3
B PR IE T H=600 BrE @ 060 m X 0553 m X 1043 m = 3461 m3
H=600 ATl 060 m 0723 m X 42 m = 182 m3
A&t 39.00 m3 40
HEFYT HrE @ 060 m X 0263 m X 6 m = 095 m3
HHERLT HEFYT HrE@ 060 m 0263 m X 1043 m = 16.46 m3
HEFYT HrEQ 060 m X 0263 m X 42 m 066 m3
&t 1807 m3 20
x4+ HrE @ 060 m X 0150 m x 6 m 054 m3
HHERLT FHET WrEQ 060 m 0290 m X 1043 m = 1815 m3
x4+ HrEQ 060 m X 0290 m X 42 m 073 m3
A&t 1942 m3 20
BLIAET 1742 m3 20
FEEET t=20cm RC-40 060 m X 60 m = 360 m2 4
t=10cm RC-30 060 m X 42 m = 252 m2 3
FEEET t=12cm M-30 060 m X 60 m = 360 m2 4
t=8cm M-30 060 m X 42 m = 252 m2 3
RAsEHZET t=3cm $HHI 060 m X 102 m = 6.12 m2 6
K BASSRE T (A HHET t=5cm :"'_..E#l:l: 080 m X 60 m = 480 m?2 5
t=4cm i 080 m X 42 m = 336 m2 3
AsTi% iR U i T t=4, 5cm 102 m X 4 % = 4080 m 41
AsSHEE R RERS T t=5cm 080 m x 6.0 m = 480 m2 5
t=4cm 080 m x 42 m = 3.36 m2 3
RAsEHEE IR B R T t=3cm 060 m X 102 m = 6.12 m2 6
AsTHEEFER -y T = 056 m3 06
HKEMET BEMERYE T H=600 060 m X 0.516 x 35 m = 1.08 m3 1
HHERLT HEFVS 060 m X 0226 m 35 m = 047 m3 05
BWMIERLT H=600 060 m X 0290 m X 35 m = 061 m3 06
BIAET 041 m3 0.4




¢ 50

HPPE Fid K & 4] & & B - TR AR ()
PEE (m) DHNT
, e YT "
B omm R |0 ERE " BE (m) 2 i
4 @J =] ;+
=]
-1 Z-1 -2 -3 Z-4 O-©® ([)
HPPE 50 5. 000 2.000 1. 400 0. 600 1. 000 5. 000 3 1
B
HPPE
. b .
5]
z-1 ) Z-3 Z—4 Z-5 BR= 50
HPPE 50 5. 000 5. 000 5. 000
HPPE 50 5. 000 5. 000 5. 000 HxhE| 5.000
HPPE 50 5. 000 3.800 0. 700 4.500 0. 500 2
g 20. 000 15. 800 2.100 0. 600 1. 000 19. 500 0. 500 5
20. 000 15. 800 2.100 0. 600 1. 000 19. 500 0. 500 5




MK

IRHR A & A& B | ZVHE|EEHE i
MER
FEEAR HPPE (EFZ Ot A ZEE) L=5.00m ®50 x 9 42 0m7a R
BLKEMBJRT |PVoaqot ¢ 50 1& 1
BR—b W=150S m 420
FHEE
EEARR RUIFLUERMET ®50 m 420
BLKERHRT |[RIIFLUOEBHRFI (BEES) 650 1O#F | O 9
RUIFLUELIRT ®50 a 4 FERRURIH EL
AN=ZHAIBFTGRYER) $ 50 H 1
AN=AILBFI(GEEER) ®50 a 1
EHRI—k m 42,0
BKERERT HKERE | 0.02 42.0m/2,0008=0.02H




T I % E %
£ 7 % H B 4 = RETHME
FEAR
FRKEMBRT PR T H=600 BrE @ 060 m X 0723 m 42 m = 1822 m3 20
HWERLT ABRFYTS Q) 060 m X 0263 m 42 m = 6.63 m3 7
HWIERLT HEL valQ) 060 m X 0290 m 42 m = 731 m3 7
BT = 10.10 m3 10
TRERET t=10cm RC-30 060 m X 420 m = 2520 m?2 25
LERAET t=8cm M-30 060 m X 420 m = 2520 m2 25
RAsEHZET t=3cm FRAI 060 m X 420 m = 2520 m2 25
AREIBAsTHET (ANETL] t=4cm BRI 080 m X 420 m = 33.60 m2 34
AsEiZE hiR U] 7 T t=4cm 420 m X 4 % = 16800 m 168
AsEHZE R bR T t=4cm 080 m X 420 m = 3360 m2 34
R AsEZE hiR B T t=3cm 060 m X 420 m = 2520 m?2 25
AsTHEEFHER - 5 T = 210 m3 2




¢50 HPPE Fd K & 4] & *£ WA . RS
PEE (m) DHNT
fs 1
HB WM FE|OERE " B (m) SO T W %
o b 3t
=]
-1 Z-1 -2 -3 z.-4 O-©® ([)
1 HPPE 50 5. 000 2. 000 1. 600 0. 700 0. 600 4. 900 0. 100 4 |FEREMR ) & 1
B
HPPE
. b .
5]
z-1 ) Z-3 Z—4 Z-5 BR= 50
HE|  5.000
g 5. 000 2.000 1. 600 0. 700 0. 600 4. 900 0. 100 4
5. 000 2. 000 1. 600 0. 700 0. 600 4. 900 0. 100 4




